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1. Of Arnold and the jumper who first started in 1988, one has done 64 previous jumps and the other wears the yellow
suit..

2. Of the jumper who first started in 1984 and the skydiver who has done 56 previous jumps, one is Tyler and the other
wears the indigo suit..

3. Of Marcus and the skydiver who has done 64 previous jumps, one started skydiving in 1984 and the other wears the
maroon suit..

4. The jumper who first started in 1985 doesn't wear the aquamarine suit..

5. The skydiver who has done 56 previous jumps started skydiving 2 years before Zachary..

6. Virgil hasn't done exactly 70 previous jumps..

7. The skydiver who first started in 1987 hasn't done exactly 70 previous jumps..

8. The skydiver who has done 64 previous jumps is either the jumper who wears the indigo suit or the jumper who first
started in 1986..

9. Neither the jumper who first started in 1986 nor the skydiver who first started in 1987 is Marcus..

10. The jumper who has done 73 previous jumps, the skydiver who first started in 1986, Tyler and Zachary are all
different skydivers..
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